Global History II


Review Units #17A and 17 B



Quiz





Name ________________________________________

__3__ 1.Which is generally a characteristic of a communist economy?

1. investment is encouraged by the promise of large profits 

2. the role of government in the economy is restricted by law 

3. government agencies are involved in production planning 

4. entrepreneurs sell shares in their companies to the government 

___3_ 2.  A major cause of the Russian Revolution of 1917 was the

1. defeat of Germany in the Russian campaign 

2. marriage of Czar Nicholas II to a German princess 

3. existence of sharp economic differences between social classes 

4. appeal of Marxism to the Russian nobility 

__2__3. Russian peasants supported the Bolsheviks in 1917 primarily because the Bolsheviks pledged to

1. establish and maintain collective farms 

2. redistribute land and make peace 

3. keep crop yields low 

4. limit the income of the nobility 

___2_ 4. Which slogan expressed the ideals of the Bolshevik Revolution of 1917?

1. Liberty, Equality, and Fraternity 

2. Bread, Land, and Peace 

3. Land and Liberty 

4. Nationalism, Democracy, and the People’s Livelihood 

___1_5.  Which statement best describes a relationship between World War I and the Bolshevik Revolution?

1. World War I created conditions in Russia that helped trigger a revolution. 

2. World War I postponed the revolution in Russia by restoring confidence in the Czar. 

3. Opposing Russian forces cooperated to fight the foreign invaders. 

4. World War I gave the Czar’s army the needed experience to suppress the revolution. 

__4__6.  The political reorganization of Russia after the Communist Revolution of 1917 resulted in

1. the establishment of a two-party political system 

2. increased political power for ethnic minorities 

3. a limited monarchy with the czar as a figurehead 

4. a federation of socialist republics 

__2__7. One action taken by both V.I. Lenin and Joseph Stalin was

1. attempting to bring democracy to Russia 

2. jailing or murdering potential opponents 

3. supporting the Russian Orthodox Church 

4. providing economic aid to Japan after World War I and World War II 

__4__ 8. Josef Stalin’s leadership of the Soviet Union can best be characterized as a period of

1. democratic reform and nationalism 

2. humanism and democracy 

3. religious freedom and tolerance 

4. censorship and terror 

___1_ 9. Stalin’s Five-Year Plans and his decision to form collective farms are examples of

1. strategies to modernize the economy of the Soviet Union through forced communism 

2. a more friendly foreign policy toward China 

3. methods of dealing with the United States during the Cold War 

4. programs to westernize, educate, and enlighten the population 

___4_ 10. The economic policies of the Soviet Union traditionally emphasized the production of

1. automobiles for export 

2. building materials for luxury housing 

3. consumer goods 

4. heavy industrial goods 

__2_ 11.  Which statement best describes most Eastern European countries immediately after World War II? 

1. they adopted democratic reforms in their political systems 

2. they became satellite states of the Soviet Union 

3. they became dependent on aid provided by the Marshall Plan 

4. they emerged as world economic powers 

__1_ 12. Prior to the 1980’s, the emphasis of the Five-Year Plans in the Soviet Union was on heavy industry. 
               One result was the:
1. scarcity of consumer goods 

2. abundance of manufactured goods 

3. rejection of agricultural planning 

4. decline in military spending 

___4_ 13.  Which headline concerning the Soviet Union refers to a Cold War event?

1. “Yeltsin Assumes Power” 

2. “Trotsky Forms Red Army 

3. “Germany Invades USSR” 

4. “Warsaw Pact Formed” 

___3_ 14.  During the Cold War Era (1945-1990), the United States and the Soviet Union were reluctant to 
                  become involved in direct military conflict mainly because of:
1. the peacekeeping role of the United Nations 

2. pressure from nonaligned nations 

3. the potential for global nuclear destruction 

4. increased tensions in the Middle East 

___1_ 15.  During the 1980’s, Mikhail Gorbachev introduced Perestroika in the Soviet Union to

1. improve the economy and decentralize decision making 

2. abandon arms treaties with the United States and Western Europe 

3. tighten government controls over the communication media 

4. suppress the growing nationalist movements in Eastern Europe 

___2_ 16.  Which is a valid statement about the Soviet Union from the time of the Bolshevik Revolution 
                 through 1991?

1. Education has been limited to the communist party elite 

2. Demand for consumer goods has exceeded production 

3. Military expenditures have been low 

4. Industrialization has not occurred 

___3_ 17.  The revolt in Hungary (1956), the demonstrations in Czechoslovakia (1968), and the formation of solidarity in Poland (1980’s) are similar in that they

1. were movements in restore the power of the aristocracy 

2. were tolerated by the communist leaders, who accepted the need for change 

3. represented a challenge to communist leadership 

4. represented attempts to rid these countries of western ideas and influence 

___1_ 18.  In the 1990’s under the leadership of Boris Yeltsin, Russia attempted to become

1. a democracy with a market economy 

2. a dictatorship with a command economy 

3. an autocracy practicing mercantilism 

4. an oligarchy based on serfdom 

___2_ 19.  During the mid-1930’s, which characteristic was common to Fascist Italy, Nazi Germany, and Communist Russia?

1. government ownership of the means of production and distribution 

2. one-party system that denied basic human rights 

3. encouragement of individual freedom of expression in the arts 

4. emphasis on consumer goods rather than on weapons 

___1_20.  In the People’s Republic of China, which factor best reflects Marxism?

1. communal work teams on farms 

2. ownership of small farms by individuals 

3. small family-owned businesses in villages 

4. foreign influence on the economy 

___3_ 21.  The main reason the Chinese Communists gained control of mainland China in 1949 was that

1. they were supported by many warlords and upper class Chinese 

2. the United States had supported the Chinese Communist Party during World War II 

3. the dynamic leadership of Mao Zedong had the support of the peasant class 

4. they had superior financial resources and were supported by Japan 

___4_ 22.  The Great Leap Forward in China and the five-year plans in the Soviet Union were attempts to increase

1. private capital investment 

2. religious tolerance 

3. individual ownership of land 

4. industrial productivity 

___4_ 23.  A major goal of the Cultural Revolution in China during the 1960’s was to

1. restore China to the glory of the Han Dynasty 

2. reemphasize Confucian traditional values 

3. weaken communist ideas 

4. eliminate opposition to Mao Zedong 

___3_ 24.  Deng Xioaping’s economic reforms in China differ from the previous economic policies of Mao Zedong in that Deng’s reforms

1. discourage private ownership of businesses 

2. promote further collectivization 

3. include elements of capitalism 

4. decrease trade with the United States 

___2_ 25.  Which statement about reforms in China during the 1980’s and 1990’s is most accurate?

1. Political reforms resulted in the overthrow of communism. 

2. Economic reforms were more successful than political reforms. 

3. Political reforms increased individual rights. 

4. Economic reforms forced China to return to a policy of isolationism. 

